Question 1

Points distribution -- (a) 4 points, (b) 5 points, (c) 5 points, (d) 5 points, (e) 5 points.

( Total 24 points

(a) Refutable proposition: Many students missed this question. Some students were confused between refutable proposition and normative statement. The right answer is “statement or proposition that could be wrong but, turned out to be correct”. If student meant a little bit similar notion, he could get partial points (Some students said that refutable proposition is the proposition that can be refutable – No point in this case).

(b) Inflation: Most people may know what the inflation means. Because you are learning economics, you need more exact terms. If you just wrote “when the price goes up”, you couldn’t get full scores. You need some specific words – for examples, “general price level”, “average price level”, “a standard set of goods”, and so forth. You don’t need to explain it with long statement. It is just OK if you say that inflation is the average increase in price of a standard set of goods during a certain period.

(c) Cost of trading: You could get full score if you mentioned the 3 costs of trading. But if you mentioned it in abstract terms, (for example, the comprehensive cost that is involved in trading) without writing 3 costs of trading, you would lose your points. And some students just wrote the definition of economic (opportunity) cost – No way..

(d) Diamond-water paradox: The question requires for you to explain why it is called paradox (Answer - “why is it that diamonds, which are mere frivolities, are expensive, whereas water, which is essential to life, is generally cheap?”). But some students just explained that it is not paradox, using marginal value or total value, without mentioning why it is paradox. In that case you would lose your points. But if you explained why we call it paradox, you could high score.

(e) Diminishing marginal value: Most students were good at this part. If you said right notion, you would get full scores (But no way in the following case – Diminishing marginal vale means that marginal value diminishes). Anyway, I think most students got the right answer.

Question 2

Grading:  each of the three parts was worth 8 points each.  To receive full points on the first question one needed to mention differing marginal values as a result of differing prices which are required to make trade beneficial.  If on part 3 one answered the most common incorrect answer 3 points where given.  See good answers below for more guidelines on how to answer.

Good answers:

For part:

 i. A good answer would state that Michael and Bobby would buy milk and bread until their Marginal values no longer exceeds the price.  An individual will take an action until the benefit exceeds the cost.  Because of different prices the Marginal values will be different and as a result trade will be beneficial.

             ii. Michael will increase his bread because of his higher marginal value.  His marginal value for bread is approximately .80 while Bobby’s is about .60 and their value of Milk is .90 and 1.00 respectively.


iii. At the present quantities that QFC was better by .30, but Bobby may be better of at Albertsons’ prices by increasing the amount of milk and decreasing the amount of bread purchased there.  Therefore we are uncertain which he prefers. 

Bad answers:

The most common mistake was on part iii. was calculating the prices at QFC(7.40) and Albertsons(7.70) subtracting the two and saying Bobby was better off at QFC by .30. 

Another common mistake was to say that Michael would trade bread because he had more bread.  Some people did not know if trade was beneficial because they could not figure out the marginal values of Bobby and Michael.  

Question 3

a. Answer: T : 2 points

Have to explain either normal good or inferior good: 2 points

Explanation: 2 points

b. Answer: F : 2 points

Explanation (no economic sense/people would substitute..) : 2-4 points

c. Answer: T : 2 points

Definition of scarcity and explanation that government can’t correct it: 2 points

Definition of shortage and explanation why government can correct it: 2 points

d. Answer: T : 2 points (If you answered T without or with wrong explanation)

1. Price will be lower because of bountiful good crop. : 2 points

2. If the total expenditure will be higher or lower depends on elasticity.    

Ps. If you simply answered F, I did not give points. But if you answered F/uncertain based on correct explanation, I gave 4-6 points depends on the way you explained. 

Question 4

4.  A number of years ago, an “energy crisis” resulted from the creation of OPEC (Organization of Petroleum Exporting Countries).  OPEC substantially reduced the supply of crude oil.  A doubling of the prices of crude oil resulted.

The Department of Energy was concerned that massive transfers of U.S. wealth would result from the price increase.  They cited estimates of the elasticity of demand for gasoline in the U.S. (gasoline being the major product from crude oil) that indicated an elasticity of demand of about -.1.  The gasoline demand elasticity estimates were based on price and consumption data from the early 1970s.  In those years, gasoline prices cycled from 80 cents to $1.20 (in current dollars) over six to eight week periods.  The Department of Energy found that the consumption of gasoline fell only by about 4% in response to the 40% increase in price.  

However, the Department’s concern about massive transfers of U.S. wealth was found to be misplaced since the actual U.S. payments to the OPEC countries for crude oil increased only a small amount. 

a.  Explain why you would expect the elasticity estimate cited above to understate the expected response to the large OPEC price increase.

(4) Elasticity of -.1 ( Inelastic

Inelastic means that the percentage change in quantity demanded (consumption) is less than the percentage change in price. 

(10) The -.1 elasticity is a short-run measure of elasticity.  A long-run measure of elasticity would be less inelastic (or more elastic).  That is, the long run reduction in quantity demanded in response to a price increase is much larger than the short run response.  

Explanation: When the elasticity of demand for gasoline was estimated to be -.1, the price of gasoline was cycling between $0.80 and $1.20 over six to eight week periods.  That means that when the price of gasoline went up, consumers never had more than 6-8 weeks to respond to the price increase before the price went back down again.  Therefore, we can consider the -.1 estimate to be a “short run” estimate.  However, if the price changes permanently, as it did with the creation of OPEC, we can expect consumers to respond differently.  For example, they may respond by moving, car pooling, using transit, and switching to more fuel efficient cars (actions that consumers probably wouldn’t take if they expect the price to go back down in a few weeks).  

b.  Explain why the elasticity understatement lies behind the Department’s misguided concern about  wealth transfers.

(10) If the elasticity is -.1, when the price increases, the quantity demanded decreases by a small amount.  As a result, total expenditure on gasoline increases by a large amount.  This is the “wealth transfer” that the question refers to--there is a transfer of wealth from US consumers to crude oil suppliers (not a transfer from the wealthy to the poor or vice versa).  If the actual elasticity is less inelastic than -.1 (greater in absolute value), the quantity demanded will decrease by a larger amount in response to the price increase and the total expenditure will be less.  Therefore, if the actual elasticity is greater than expected, the total expenditure of US consumers on gasoline is less than expected.  

Question 5


a.



price = $6 QD = 5



Total Value = $(10 + 9 +…+6) = $40



Total Expenditure = $6 * 5 = $30



Consumer Surplus = $40 - $30 = $10
2


price = $3 QD = 8



Total Value = $(10 + 9 +…+3) = $52



Total Expenditure = $3 * 8 = $24



Consumer Surplus = $52 - $24 = $28
2


Price  ($6  $3)  Consumer Surplus  ( $10  $28)
2


$28 - $10 = $18 < $17



Increase in consumer surplus is greater than the cost to join the club.


Therefore join the club.
2

b. i.



1. Scarcity, yes
2


2. Substitution, yes
2

1, 2 are because Chris will not give up food or drink unless he is given more of another good.



3. Diminishing marginal value (or satiation), no
2

Because the marginal values for the second and for the third unit of food are the same.


b. ii.



4 drinks

2



Chris (3, 9)  (1,21)




Kim (3, 25)  (5,13)

3


0 drinks

2

Chris requires more for 2 foods than Kim would give up for 1 food. This is also true for a 3 for 2F trade.

3
